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Question: 1 
The MoH server Parameter on the left to its description on the right. Not all Parameters apply. 

 

 
 

Answer: 
 

 
 

Question: 2 
Which two gateway configuration statements are required, at a minimum, in order to enable Cisco 
Unified CallManager to control a T1 PRI in an MGCP gateway? (Choose two.) 

 
A - mgcp 
B - ccm-manager config 
C - pri-group configuration on the controller 
D - mgcp call-agent pointing to tuft server 
E - isdn l3-backhaul ccm-manager on the serial interface 
F - config-server address pointing to tftp server 

 
Answer: B, F 

 



 
Question: 3 
Which of these is the best practice to employ when using certificates between a browser and the 
Cisco Unified CallManager 5.0 server? 

 
A -  Accept the certificate when the security alert pop-up window appears. 
B -  Use SSH exclusively to verify the thumbprint of the certificate and then send the certificate to 

all web browser users that require access to the server. 
C -  Use either SSH or CLI to view the thumbprint of the certificate and then communicate the 

information to all web browser users so they already have it available when they receive the 
security alert. 

D -  Note the thumbprint of the Cisco Unified CallManager certificates after installation and 
then communicate the information to all web browser users so they have it available when 
they receive the security alert. 

E -  Install thumbprint readers on the devices that need to connect to the Cisco Unified 
CallManager servers via HTTPS. 

Answer: D 

Question: 4 
Which two Cisco Unified CallManager tasks are required to route calls from Cisco Unified 
CallManager to the PSTN via an H.323 gateway? (Choose two.) 

 
A - add a gatekeeper from the Device menu 
B - add an H.323 gateway from the Device menu 
C - configure the voice endpoints in Cisco Unified CallManager 
D - configure the signaling protocol used on the voice circuit 
E - add PSIN route patterns pointing to the gateway 
F - configure the IP phones with an external phone number mask 

Answer: B, E 

Question: 5 
Which of the following actions will prevent devices from being able to initiate conferences? 

 
A - Exclude the conference media resource Partitions from the CSS. 
B - Exclude the conference media resources from all MRGs. 
C - Place all conference media resources in MRGs and exclude these MRG5 from the MRGL. 
D - Remove the default MRGL from the device pool. 

Answer: C 

Question: 6 
You have configured SRST at a remote site on an MGCP gateway. During testing, you find that 
IP phones are not registering with the SRST router when the IP WAN fails. Which three potential 
problems need to be investigated? (Choose three.) 

 
A - No dial-peers have been added to the SRST router. 
B - No SRST reference address is included in the device pool. 
C - The proper service command has not been added to the SRST router. 
D - The max-ephones command is Missing in the SRST router. 
E - The max-dn command is Missing in the SRST router. 
F - The ccm-manager fallback-mgcp command is Missing in the SRST router. 

 
 

Answer: B, D, E 
 



 
Question: 7 
Which three can be assigned a Partition? (Choose three.) 

 
A - directory number 
B - lP phone 
C - gateway 
D - route pattern 
E - translation pattern 
F - gatekeeper 

Answer: A, D, E 

Question: 8 
Which three steps must be completed in order to assign a service URL to an lP Phone button? 
(Choose three.) 

 
A - Add an IP phone service. 
B - Assign the IP phone service Partition to the CSS of the phone. 
C - Create a phone button template that includes a service URL and assign it to the phone. 
D - Create a soft key template that includes a service URL and assign it to the phone. 
E - Subscribe the phone to the service. 
F - Associate a valid user profile with the phone. 

Answer: A, C, E 

Question: 9 
Which of these best describes the function of transformations? 

 
A - allow the call-routing component to modify the calling or called number 
B - identify and define the tags and operatives used in route filters 
C - configure and revise discard digits 
D - redirect calls 

Answer: A  


